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0T1/1mr/m/n/5: A quick brown TEX jimps.
0T1/1mr/m/sl/5 : A qiifck browi TEX jiimps.
0T1/1mr/m/it/5: A qiick browi TgX jimps.
OT1/lmr/m/sc/5 : A QUick BROWN TEX JUMPS.
0T1/lmr/m/scsl/5 : A QUick BROWN TEX JUMPS.
0T1/1lmr/b/n/5: A qétick browi TEX jiimps.
0T1/1mr/b/sl/5: A qitick browi TgX jiimps.
0T1/1mr/bx/n/5: A qaick browd TEX jimps.
0T1/1mr/bx/it/5: A qaick browi TgX jimps.
OTl/lmr/bX/Sl/S: A qitick browi TEX jiimps.
0T1/1lmss/m/n/5: A qéick brow# TEX jimps.
0T1/1mss/m/sl/5: A qiiick browii TEX jimps.
OTl/lmSS/SbC/II/S : A qilick browfi TgX jiimps.
0T1/1mSS/SbC/Sl/5 : A qilick browii TgX jiimps.
0T1/1mSS/bX/n/5 : A qiiick browfi TEX jiimps.
0T1/1lmss/bx/sl/5: A qiick browii TEX jiimps.
0T1/1lmtt/m/n/5: A qiick browi T jimps.
0T1/1mtt/m/it/5: 4 qaick brown TX jimps.
0T1/1lmtt/m/sl/5: A qick browd T jimps.
OTl/lmtt/m/SC/SZ A qOick BROWN T JUMPS.
0T1/1mtt/1c/n/5 : A qidck browi X jinps.
0T1/1mtt/1lc/sl/5: 1 quick browi T jimps
0T1/1lmtt/1/n/5: A qiick browd T jimps.
0T1/1lmtt/1/sl/5: A giick browi T jimps.
0T1/1lmtt/b/n/5: A qiick browd TX jimps.
0T1/1mtt/b/sl/5: A quick browi T jimps.
0T1/lmvtt/m/n/5: A qfiick browsi TgX jimps.
0T1/1lmvtt/m/s1l/5: A qaick browsi TEX jiimps.
0T1/lmvtt/1/n/5 : A quick browfi TEX jiimps
0T1/1lmvtt/1/s1l/5: A quick brows TgX jimps
0T1/1lmvtt/b/n/5: A qaiick browdi TgX jimps.
0T1/1lmvtt/b/sl/5: A qaick browfi TgX jiimps.
0T1/lmssq/m/n/5: A qiiick browfi TX jimps.
0T1/1mssq/m/s1/5: A qaick browii TEX jimps.
0T1/1mssq/bx/n/5: A qiick browd TEX jimps.
0T1/lmssq/bx/sl/5 A qiick browr TEX jimps.
0T1/1lmr/m/n/7: A qiifck browii TEX jiimps.
0T1/1lmr/m/sl/7: A qiiick browa TgX jiimps.
0T1/1lmr/m/it/7: A qiick brown TEX jimps.
0T1/1mr/m/sc/7: A QOfck BROWR TEX JUMPS.
0T1/1lmr/m/scsl/7: A QUick BROWN TEX JUMPS.
0T1/1mr/b/n/7: A qiiick browii TEX jiimps.
0T1/1lmr/b/sl/7: A qiiick browi TEX jiimps.
0T1/1lmr/bx/n/7: A qiiick browii TEX jiimps.
0T1/1lmr/bx/it/7: A qiick brown TgX jimps.
0T1/1lmr/bx/sl/7: A qiiick browi TgX jiimps.
0T1/1mss/m/n/7: A qiiick browf TEX jiimps.
0T1/1lmss/m/sl/7: A qiiick browi TEX jiimps.
0T1/1lmss/sbc/n/7: A qiiick browii TgX jiimps.
0T1/1mss/sbc/sl/7: A qilick browii TEX jiimps.
0T1/1lmss/bx/n/7: A qiick browii TEX jiimps.
0T1/1mss/bx/s1/7: A gilick browii TEX jiimps.
0T1/1lmtt/m/n/7: A qiiick browfi T jimps.
0T1/1mtt/m/it/7: A giick browd T jumps.
0T1/1mtt/m/s1/7: A qiick browfi T jimps.
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0T1/1mtt/m/sc/7:

A QOick BrROWN TEX JUMPS.

0T1/1mtt/1c/n/7: A qiick browi T jimps.
0T1/1mtt/1c/sl/7: 4 qiiick browi T jimps.
0T1/1lmtt/1/n/7: A qiick browii T jimps.
0T1/1mtt/1/s1/7: A qiick browd T jimps.
0T1/1mtt/b/n/7: A qiiick browd TeX jimps.
0T1/1mtt/b/s1/7: A qglick bréwd TgX jimps.
0T1/lmvtt/m/n/7: A quick browfi TEX jimps.
0T1/lmvtt/m/sl/7: A quick browfi TEX jimps.
0T1/1mvtt/1/n/7: A qiick browii TEX jimps.
0T1/1lmvtt/1/s1/7: A quick bréwdi TeX jlimps.
0T1/1mvtt/b/n/7: A qiick bréwii TEX jiimps.
0T1/1lmvtt/b/sl/7: A qiick browdi TEX jimps.
0T1/1mssq/m/n/7: A qlick browfi TEX jimps.
0T1/1mssq/m/s1/7: A qdick browdA TEX jumps.
0T1/1mssq/bx/n/7: A qiick browi TEX jumps.
0T1/1mssq/bx/sl/7: A qiick bréwi TEX jiimps.
0T1/1mr/m/n/8: A qtifck brown TEX jimps.
0T1/1lmr/m/sl/8: A qiiick brown TEX jiimps.
0T1/1lmr/m/it/8: A qiick brown TgX jimps.
0T1/1mr/m/sc/8: A QUfck BROWN TEX JUMPS.
0T1/1lmr/m/scsl/8: A QUicKk BROWN TEX JUMPS.
0T1/1mr/b/n/8: A qtiick browi TgX jiimps.
0T1/1mr/b/sl/8: A qiiick browi TgX jiimps.
0T1/1mr/bx/n/8: A qtick browi TEX jiimps.
0T1/1lmr/bx/it/8: A qiick browhn TgX jimps.
0T1/1mr/bx/s1/8: A qiick browin TgX jiimps.
0T1/1lmss/m/n/8: A qiiick browfi TEX jiimps.
0T1/1mss/m/sl/8: A qliick browd TgX jiimps.
0T1/1mss/sbc/n/8: A qiiick browi TEX jiimps.
0T1/1mss/sbc/s1/8: A qilick browii TgX jiimps.
0T1/1lmss/bx/n/8: A qiiick browi TEX jiimps.
0T1/1mss/bx/sl/8: A qiick browA TgX jiimps.
0T1/1lmtt/m/n/8: A qiiick bréwii TX jiimps.
0T1/lmtt/m/it/8: 4 qiick browi T jimps.
0T1/1mtt/m/s1/8: A giiick bréwA T jimps.
0T1/1mtt/m/sc/8: A qbick BROWN TX JUMPS.
0T1/1mtt/lc/n/8: A qiiick brovii T jimps.
0T1/1mtt/1c/s1/8: A quick browii T jimps.
0T1/1mtt/1/n/8: A qiick browil TX jimps.
0T1/1mtt/1/s1/8: A qliick bréwii TX jimps.
0T1/1mtt/b/n/8: A qliick browii T jiimps.
0T1/1mtt/b/sl/8: A giiick browii T jimps.
0T1/1mvtt/m/n/8: A qiick browfi TEX jimps.
0T1/1lmvtt/m/sl/8: A giiick bréwdi TEX jimps.
0T1/1lmvtt/1/n/8: A qtick browdi TEX jumps.
0T1/1lmvtt/1/s1/8: A quiick browdi TEX jimps.
0T1/1mvtt/b/n/8: A qiick bréowf TEX jimps.
0T1/1mvtt/b/sl/8: A qtiick bréwid TgX jimps.
0T1/1mssq/m/n/8: A qlick browf TEX jumps.
0T1/1mssq/m/s1/8: A qlick browfii TgX jumps.
0T1/1mssq/bx/n/8: A quick browi TEX jumps.
0T1/1lmssq/bx/sl/8: A qiiick browA TgX jumps.
0T1/lmr/m/n/9: A qtiick browii TEX jumps.
0T1/1mr/m/sl/9: A qiiick browin TEX jimps.
0T1/1mr/m/it/9: A qiick brown TgX jumps.
0T1/1lmr/m/sc/9: A QUfcK BROWN TEX JUMPS.



0T1/1lmr/m/scsl/9:
0T1/1lmr/b/n/9:
0T1/1mr/b/sl/9:
0T1/1lmr/bx/n/9:
0T1/1lmr/bx/it/9:
0T1/1mr/bx/sl/9:
0T1/1lmss/m/n/9:
0T1/1lmss/m/sl/9:
0T1/1mss/sbc/n/9:
0T1/1lmss/sbc/s1/9:
0T1/1lmss/bx/n/9:
0T1/1mss/bx/sl/9:
0T1/1lmtt/m/n/9:
0T1/1mtt/m/it/9:
0T1/1mtt/m/sl/9:
0T1/1mtt/m/sc/9:
0T1/1mtt/1lc/n/9:
0T1/1mtt/1lc/s1/9:
0T1/1mtt/1/n/9:
0T1/1mtt/1/s1/9:
0T1/1mtt/b/n/9:
0T1/1mtt/b/s1l/9:
0T1/1lmvtt/m/n/9:
0T1/1lmvtt/m/sl/9:
0T1/1mvtt/1/n/9:
0T1/1mvtt/1/s1/9:
0T1/1lmvtt/b/n/9:
0T1/1mvtt/b/sl/9:
0T1/1mssq/m/n/9:
0T1/lmssq/m/s1/9:
0T1/1mssq/bx/n/9:
0T1/1mssq/bx/sl/9:

0T1/1lmr/m/n/10:
0T1/1mr/m/s1/10:
0T1/1lmr/m/it/10:
0T1/1lmr/m/sc/10:
0T1/1mr/m/scsl/10:
0T1/1mr/b/n/10:
0T1/1mr/b/s1/10:
0T1/1mr/bx/n/10:
0T1/1lmr/bx/it/10:
0T1/1mr/bx/s1/10:
0T1/1mss/m/n/10:
0T1/1mss/m/s1/10:
0T1/1lmss/sbc/n/10:

0T1/1lmss/sbc/s1/10:

0T1/1lmss/bx/n/10:
0T1/1mss/bx/s1/10:

A QUick BROWN TgX JUMPS.
A qiiick browi TgX jiimps.

A qiiick browi TEX jiimps.

A quick brown TEX jlimps.
A qiick brown TgX jimps.
A qiiick brown TgX jiimps.
A qliick brown TEX jiimps.

A qlick browi TgX jiimps.

A qiiick browii TgX jiimps.

A qiiick browii TgX jiimps.

A qiick browii TEX jiimps.

A qiiick browii TEX jiimps.

A qliick browil TgX jilimps.

A qiick browf TX jimps.

A qiiick browdi TX jiimps.

A QUick BROWN TX JUMPS.

A qiick browi T jimps.

A qiick browd Tg{ jimps

A qiick browil TgX jumps.

A qtick browil TX jilimps.

A qiiick browdi TgX jilimps.

A qiiick browd TgX jiimps.

A qtick browfi TEX jimps.

A qtiick browidi TgX jimps.

A qfiick browfi TEX jumps.

A quick browAl TEX jimps.

A qiick browfi TEX jumps.

A qiiick browii TgX jiimps.

A qlick browi TpX jumps.
A qlick browil TeX jumps.
A quick browin TgX jumps.
A quick brown TgX jumps.

A qtifck brown TEX jimps.

A qiiick browii TEX jiimps.

A qiick brown TEX jimps.

A QUick BROWN TEX JUMPS.
A QUICK BROWN TEX JUMPS.
A qiiick brown TgX jiimps.

A qiiick brown TgX jiimps.

A qtiick brown TEX jiimps.
A qiiick brown TgX jimps.
A qiiick brown TgX jiimps.
A qlick browii TEX jimps.

A qdick browi TgX jiimps.

A qilick browi TgX jiimps.

A qdick browii TEX jiimps.

A qiick browi TEX jiimps.

A gqiick browii TEX jiimps.



0T1/1mtt/m/n/10:
0T1/1mtt/m/it/10:
0T1/1mtt/m/s1/10:
0T1/1mtt/m/sc/10:
0T1/1mtt/1lc/n/10:
0T1/1mtt/1c/s1/10:
0T1/1mtt/1/n/10:
0T1/1mtt/1/s1/10:
0T1/1mtt/b/n/10:
0T1/1mtt/b/s1/10:
0T1/1mvtt/m/n/10:
0T1/1lmvtt/m/sl/10:
0T1/lmvtt/1/n/10:
0T1/lmvtt/1/s1/10:
0T1/lmvtt/b/n/10:
0T1/1mvtt/b/s1/10:
0T1/1mssq/m/n/10:
0T1/1mssq/m/s1/10:
0T1/1mssq/bx/n/10:

0T1/1mssq/bx/s1/10:

0T1/1mr/m/n/12:
0T1/1mr/m/sl/12:
0T1/1mr/m/it/12:
0T1/1mr/m/sc/12:
0T1/1mr/m/scsl/12:
0T1/1mr/b/n/12:
0T1/1mr/b/sl/12:
0T1/1mr/bx/n/12:
0T1/1mr/bx/it/12:
0T1/1mr/bx/sl/12:
0T1/1mss/m/n/12:
0T1/1mss/m/s1l/12:
0T1/1mss/sbc/n/12:

0T1/1lmss/sbc/sl/12:

0T1/1mss/bx/n/12:
0T1/1mss/bx/s1/12:
0T1/1mtt/m/n/12:
0T1/Imtt/m/it/12:
0T1/1mtt/m/sl/12:
0T1/1mtt/m/sc/12:
0T1/1mtt/1lc/n/12:

A qliick browfi TgX jiimps.

A qiick browd IX jimps.

A qiick browfi TgX jimps.

A qUick BROWN TgX JUMPS.

A qiick browii TX jimps.

A qiick browfl TiX jimps.

A qiick browfl TgX jlmps.

A qiiick browdA TpX jiumps.

A qliick browil TgX jiimps.

A qiick browidl TgX jimps.

A qiick browfi TEX jumps.

A qtiick browfi TEX jimps.

A qick browfi TEX jumps.

A quick browdi TEX juimps.

A qiick browfi TgX jimps.

A qiiick browfi TgX jimps.

A qlick browf TeX jumps.
A qgdick browd TeX jlimps.

A quick browin TX jumps.

A qiick brown TEX jiimps.

A qiick brown TgX jimps.

A QUfck BROWN TEX JUMPS.
A QUick BROWN TEX JUMPS.
A qiiick brown TEX jiimps.

A qiiick brown TgX jiimps.

A qiiick brown TgX jiimps.
A qiick brown TgX jimps.
A qiiick brown TgX jiimps.
A qliick browi TEX jimps.

A qlick brown TEX jimps.

A qiick browi TEX jimps.

A qiick browii TgX jiimps.

A qliick browin TgX jiimps.

A qiick browi TgX jiimps.

A qlick browii TX jimps.

A qiick brown IgX jumps.

A qiiick bréwai TgX jilmps.

A qGick BROWN TX JUMPS.

A qiick browfi TX jumps.



0T1/1mtt/lc/s1/12:
0T1/1mtt/1/n/12:
0T1/1mtt/1/s1/12:
0T1/lmtt/b/n/12:
0T1/1mtt/b/s1/12:
0T1/1mvtt/m/n/12:
0T1/lmvtt/m/s1/12:
0T1/1mvtt/1/n/12:
0T1/lmvtt/1/s1/12:
0T1/1lmvtt/b/n/12:
0T1/lmvtt/b/sl/12:
0T1/1mssq/m/n/12:
0T1/lmssq/m/s1/12:
0T1/1mssq/bx/n/12:

0T1/1mssq/bx/sl/12:

0T1/1lmr/m/n/14.4:
0T1/1lmr/m/sl/14.4:
0T1/lmr/m/it/14.4:

0T1/1lmr/m/sc/14.4:

0T1/1mr/m/scsl/14.4:

0T1/1mr/b/n/14.4:
0T1/1mr/b/sl/14.4:

0T1/1lmr/bx/n/14.4:

0T1/1mr/bx/it/14.4:

0T1/1lmr/bx/sl/14.4:

0T1/1lmss/m/n/14.4:

0T1/1mss/m/sl/14.4:
0T1/1mss/sbc/n/14.4:
0T1/1mss/sbc/sl/14.4:
0T1/1mss/bx/n/14.4:

0T1/1lmss/bx/sl/14.4:

0T1/1mtt/m/n/14.4:

0T1/1lmtt/m/it/14.4:

A quick browd T jimps.

A qlick browfi TeX jumps.

A qgliick brown TpX jlmps.

A qiick browA TgX jilmps.

A qiick bréowd TgX jimps.

A qfiick browifl TgX jumps.

A qiick bréwil TEX juimps.

A qtick browfi TEX jumps.

A qtiick browd TEX jumps.

A qiiick browil TgX jumps.

A qiiick browidl TEX jimps.

A qlick brown TEX jumps.

A qlick brown TgX jimps.

A quick brown TEX jumps.
A quick brown TgX jumps.
A qtiick brown TEX jumps.

A quick brown TgX jimps.

A quick brown TgX jimps.

A QUick BROWN TEX JUMPS.
A QUICK BROWN TEX JUMPS.
A qiiick brown TgX jiimps.

A qiiick brown TgX jiimps.

A qiiick brown TEX jliimps.
A qiick brown TgX jimps.
A qitick brown TgX jiimps.
A qliick browh TEX jimps.

A qlick brown TEX jiimps.

A qiiick brown TgX jiimps.

A qiiick browii TgX jiimps.

A quick browin TgX jumps.

A qiick browi TgX jiimps.

A qiick browfi TgX jumps.

A qiick brown TX jumps.



0T1/1lmtt/m/sl/14.4:
0T1/1mtt/m/sc/14.4:
0T1/1mtt/lc/n/14.4:
0T1/1mtt/1lc/sl/14.4:
0T1/1mtt/1/n/14.4:
0T1/1mtt/1/s1/14.4:
0T1/1mtt/b/n/14.4:
0T1/1mtt/b/sl/14.4:
0T1/1mvtt/m/n/14.4:
0T1/1lmvtt/m/sl/14.4:
0T1/1mvtt/1/n/14.4:
0T1/1mvtt/1/s1/14.4:
0T1/1mvtt/b/n/14.4:
0T1/1mvtt/b/sl/14.4:
0T1/1mssq/m/n/14.4:
0T1/1mssq/m/s1/14.4:

0T1/1mssq/bx/n/14.4:

0T1/1mssq/bx/sl/14.4:

0T1/1lmr/m/n/17.28:

0T1/1lmr/m/sl/17.28:

0T1/1lmr/m/it/17.28:

0T1/1lmr/m/sc/17.28:

0T1/1lmr/m/scsl/17.28:

0T1/1mr/b/n/17.28:

0T1/1mr/b/sl/17.28:

0T1/1lmr/bx/n/17.28:

0T1/1mr/bx/it/17.28:

0T1/1mr/bx/sl/17.28:

A qiick bréwd TgX jimps.

A qQUGick BROWN TX JUMPS.

A qiick browi T jumps.

A quick browfi T jumps.

A quick browili TgX jumps.

A quick browa TgX jumps.

A qiick bréwii TgX jilmps.

A qiick bréwid TgX jiimps.

A qiick browfi TgX jumps.

A qiick bréowili TEX jUimps.

A quick browin TEX jumps.

A quick brown TgX jumps.

A qiick bréowii TEX jumps.

A qiick bréowid TgX juimps.

A qldick brown TEX jumps.

A qldick browin TgX jamps.

A quick brown TgX jumps.
A quick brown TgX jumps.
A qtiick brown TEX jumps.

A qtiick brown TgX jimps.

A quick brown TgX jimps.

A QUfck BROWN TEX JUMPS.
A QUIcKk BROWN TEX JUMPS.
A qiiick brown TgEX jiimps.

A qiiick brown TgX jiimps.

A qtiick brown TEX jiimps.
A qiick brown TgX jimps.
A qiick brown TgX jiimps.



0T1/1lmss/m/n/17.28:

0T1/1lmss/m/sl/17.28:

0T1/1lmss/sbc/n/17.28:

0T1/1mss/sbc/s1/17.28:

0T1/1lmss/bx/n/17.28:

0T1/1mss/bx/s1/17.28:

0T1/1mtt/m/n/17.28:

0T1/1mtt/m/it/17.28:

0T1/1mtt/m/s1/17.28:

0T1/1mtt/m/sc/17.28:

0T1/1mtt/1lc/n/17.28:

0T1/1mtt/1lc/sl/17.28:

0T1/1mtt/1/n/17.28:

0T1/1mtt/1/s1/17.28:

0T1/1mtt/b/n/17.28:

0T1/1mtt/b/s1/17.28:

0T1/1lmvtt/m/n/17.28:

0T1/1lmvtt/m/sl/17.28:

0T1/1mvtt/1/n/17.28:

0T1/1mvtt/1/s1/17.28:

0T1/1mvtt/b/n/17.28:

0T1/1lmvtt/b/sl/17.28:

A qliick brown TEX jlimps.

A qiick brown TEX jimps.

A qtiick browi TgX jiimps.

A qliick brown TgX jiimps.

A qiiick brown TgX jiimps.
A qiick brown TgX jiimps.
A qliick browili TgX jumps.
A qiick brown IX jumps.
A qiick bréwd TgX jimps.
A QUick BROWN TX JUMPS.
A qiick browfi T jumps.

A qiick browd I jumps.

A quick browfi TEX jumps.
A quick brown TgX jlmps.
A qiick browii TgX jlumps.
A qiick bréwad TgX jimps.
A qiick browii TEX jumps.
A qiick browidl TgX jumps.
A qtick browfl TEX jumps.
A quick browil ITgX jumps.
A qiick browidi TgX jimps.
A qiick bréowii TgX juimps.

A quick brown TEX jumps.
A qulick brown TeX jumps.
A quick brown TEX jumps.

0T1/1lmssq/m/n/17.28:
0T1/1mssq/m/s1/17.28:

0T1/1mssq/bx/n/17.28:



0T1/1mssq/bx/s1/17.28:

0T1/1lmr/m/n/20.74:

0T1/1mr/m/s1/20.74:

0T1/1mr/m/it/20.74:

0T1/1lmr/m/sc/20.74:

0T1/1lmr/m/scsl/20.74:

0T1/1mr/b/n/20.74:

0T1/1mr/b/s1/20.74:

0T1/1lmr/bx/n/20.74:

0T1/1mr/obx/it/20.74:

0T1/1mr/bx/sl/20.74:

0T1/1mss/m/n/20.74:

0T1/1mss/m/s1/20.74:

0T1/1mss/sbc/n/20.74:

0T1/1mss/sbc/s1/20.74:

0T1/1lmss/bx/n/20.74:

0T1/1mss/bx/s1/20.74:

0T1/1mtt/m/n/20.74:

0T1/lmtt/m/it/20.74:

0T1/1mtt/m/s1/20.74:

0T1/1mtt/m/sc/20.74:

0T1/1mtt/1c/n/20.74:

A quick brown TgX jumps.
A qfiick brown TEX jumps.

A qtiick brown TEX jimps.

A quick brown TEX jumps.

A QUICK BROWN TEX JUMPS.
A QUICK BROWN TEX JUMPS.
A qiiick brown TEX jiimps.

A qiiick brown TgX jiimps.

A qiiick brown TEX jimps.
A qiick brown TgX jimps.
A qiiick brown TgX jiimps.
A qiiick brown TEX jumps.

A qiick brown TEX jiimps.

A quick brown TgX jumps.

A qiiick brown TgX jiimps.

A quick browin TgX jiimps.

A qiick brown TgX jiimps.

A qiick browili TgX jumps.

A quick brown IX jumps.

A qiick browin TgX jimps.
A
A

ui
QUIck BROWN TgX JUMPS.

quick browi TX jumps.
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0T1/1mtt/1c/s1/20.74:
0T1/1mtt/1/n/20.74:
0T1/1mtt/1/s1/20.74:
0T1/lmtt/b/n/20.74:
0T1/1lmtt/b/s1/20.74:
0T1/1mvtt/m/n/20.74:
0T1/1mvtt/m/s1/20.74:
0T1/1mvtt/1/n/20.74:
0T1/lmvtt/1/s1/20.74:
0T1/1mvtt/b/n/20.74:
0T1/lmvtt/b/s1/20.74:
0T1/1mssq/m/n/20.74:
0T1/1mssq/m/s1/20.74:

0T1/1mssq/bx/n/20.74:

0T1/1mssq/bx/s1/20.74:

0T1/1lmr/m/n/24.88:

0T1/1mr/m/s1/24.88:

0T1/1mr/m/it/24.88:

0T1/1lmr/m/sc/24.88:

0T1/1mr/m/scsl/24.88:

0T1/1mr/b/n/24.88:

A qiick browi Tg{ jumps.

A qiick brown TEX jumps.

A quick brown ITgX jumps.

A qiick browh TeX jumps.

A qiick browd TgX jimps.

A quick browi TEX jumps.

A qtick browi TgX jumps.

A qtick browin TEX jumps.

A quick browin TpX jumps.

A quick browi TgX juimps.

A qiick bréwia TgX jimps.

A quick brown TEX jumps.

A quick brown TgX jamps.
A quick brown TEX jumps.
A quick brown TgX jumps.
A qfiick brown TEX jumps.

A quick brown TEX jiimps.

A quick brown TEX jimps.
A QUick BROWN TEX JUMPS.
A QUICK BROWN TEX JUMPS.
A qtiick brown TgX jumps.
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0T1/1mr/b/s1/24.88:

0T1/1mr/bx/n/24.88:

0T1/1mr/bx/it/24.88:

0T1/1mr/bx/sl/24.88:

0T1/1lmss/m/n/24.88:

0T1/1mss/m/s1/24.88:

0T1/1mss/sbc/n/24.88:

0T1/1mss/sbc/s1/24.88:

0T1/1mss/bx/n/24.88:

0T1/1mss/bx/s1/24.88:

0T1/1mtt/m/n/24.88:

0T1/1mtt/m/it/24.88:

0T1/1mtt/m/s1/24.88:

0T1/1mtt/m/sc/24.88:

0T1/1mtt/lc/n/24.88:

0T1/1mtt/1lc/s1/24.88:

0T1/1mtt/1/n/24.88:

0T1/1mtt/1/s1/24.88:

A qiiick brown TgX jiimps.

A qiiick brown TgX jiimps.
A qiick brown TgX jimps.
A qiiick brown TgX jiimps.
A qlick brown TEX jlimps.

A qlick brown TEX jumps.

A quick brown TgX jumps.

A qiiick brown TEX jiimps.

A quick brown TgX jumps.

A quick brown TgX jiimps.

A qiick browili TgX jumps.

A qiick brown IX jumps.

A qiick brown TgX jumps.

A QUick BROWN TgX JUMPS.

A qiick browil TRX jumps.

A quick browd Ig{ jumps.

A quick brownli TgX jumps.

A qiick brown TgX jimps.
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mmenmase: A qllck browl TgX jumps.
e A QUick browh TgX jiumps.
mmmmnoess: A qUIck browil TEX jumps.
mnmmames: A qUick browfl TEX jumps.
mamsanoess: A QUICK browil TEX jumps.
mmsessess: A QUICK browfl TpX jumps.
mmmnmeese: A qUick browil TEX jumps.
e A qUick browi TEX juimps.
mmsannescs: A QUICK Drown TEX jumps.
s A QUICK brown TeX jumps.
mnsssmnns. N QUICK Drown TEX
Jjumps.
mnsssmisn: A QUICK brown TeX
Jumps.
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